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ction. All questions are compulsory.
13

What is the duty of teacher in
generating motivation among the
learners ? ]

(A To advise the learners from time
to time

(B) To rebuke occasionally  for
mistakes

(C) To accept the level of success as
one can attain

(D) To maintain very high standard.

How can the interest of the learners

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is
essential for teacher. One of its
reasons is, teacher can

(A) remove anxiety of the learners
(B) control anger of the learners

(C) keep the learners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to
inclusive education ?

{A) Right to Education
(B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the Special Need
Children.
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10.

What is the meaning of

comprehensive evaluation ?

(A) Evaluation of the whole
curriculum

(B) Evaluation of all-round
development

(C) Evaluation of the whole
intellectual ability

(D) Evaluation of all students
simultaneously.

Effective way to know about a

student is

(A) evaluation

(B) play

(C) visit his home

(D) observation.

What will you do if a student is

repeatedly teased by  another

classmate ?

(A) Punishment of the classmate
(B) Separate sitting arrangement
(C) Counselling of the classmate
(D) Call the guardian.

How can teacher identify brilliant
students ?

(A) On their examination result

(B) Observing their classroom
behaviour

Getting family history

Based on the relationship with
other students. :
What is the best way for a teacher to
maintain discipline in the classroom ?

(©)
(D)

(A) To assign group tasks r

(B) To lecture about the need of

; discipline !

(C) To lodge complaint with the
headmaster

(D) To impose strict punishment.

Cause of failure of students is

(A) lack of memorization power
(B) not to strive for assimilation
(C) absence of frequent tests
(D) not to follow the teacher.
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Modern education system is
(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A) Specific knowledge

(B) Judgement

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A) Infancy

(B) Late childhood

(C) Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A) language

(B) isolation

(C) observation

(D) independence.

Concept formation depends on

(A) learning

(B) transfer

(C) wision

(D) imaginétion.

As a result of cooperative learning
among the learners

(A) learners become self-reliant

(3) all learners learn equally

C) learners' motivation declines

(D) they do not feel the needs for
teachers.
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The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be

anxious.

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.

According to Vygotsky

(A) culture is the outcome of
education

(B) culture 1is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor
of learning.

Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning.
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Which one of the following is not
related to creativity ?

(A) To think quickly

(B) To perceive relation between
impossible things

() Work hard continuously

(D) To solve problem in a novel way.

Bow can one understand the extent
of student's learning readiness ?

(A)

Spontaneous interest

(B) Correct answer to the teacher's
question

(C) Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the
students have committed error in
answering a question. What may be
the probable cause ?

(A) They did not pay attention in the
classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it
was important.

Sometimes the first generation

learners may be inattentive in the
class; because

'A) there is none to help at home
‘B) has to perform many household
work
(C) there is lack of effort in studies
" (D) difficulty in understanding the

teacher's language.
Who is known as the father of child
centric education ?

(A) Dewey

(B) Froebel

(C) Montessori
(D) Rousseau.

[ P.T.O.



27. {rﬁﬂ TN AR 2N (3 BEF ¢ 27. Who conducted the factor analysis of
intelligence first of all ?
(A)  _PTEN
(A) Thurstone
(B) =GR
(B) Gardner
(C) I
(C) Carroll
(D) IR |
(D) Spearman.
28. WRRepis e ocF a@eaE, w9
S 28. Reading of literature is essential for
; children because the child
e TFEQ"? (A) acquires knowledge
(B) oI Kis© 27 (B) develops imagination
(€ O ¥ SING 2N (C) acquires difficult words
(D) bfE@eoT =¥ (D) builds character.
29. Fretre wune afetsmy ol o o 29. Individual differences occur among
PIFCT ? children due to
(A) By IHefon PR (A) heredity only
(B) r@{qﬁmw (B) environment only
(C) IT QSR FREI (C) growth
(D) N W NI | (D) combination of first two,

30. IF AT 9% A G AR IS IR 30. What may be the probable cause of

& s - mistake in writing the same spelling*

repeatedly ?

(A) e Srmaer ol = ¢
(A) Learning disability
(B) yfEm HFerel

(C) o1 AR eTel

(B) Low vision
(C) Tendency to commit mistake

(D) ‘W‘Iﬁﬁ' (D) Low intelligence.
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SECTION - II
Language - English
There are 30 questions in all in this Section.
All questions are compulsory.
Part - A
Jirection : Read the following poem and answer the questions (31/ 61 — 37/67) that follow :
Futility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the cléys of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
__ Or what made fatuous sunbeams toil
To break earth's sleep at all ?
31/61. The meaning of the line "Woke, once, the clays of a cold star” is

(A) broke the cold star into pieces

(B) brought life into the cold planet now called earth

(C) made the clays of the planet -

(D) made a cold star warm.

'32/62. If anything is capable of awakening "him" it is

(A) the warmth of the sun (13) the sun alone knows
X (C) the daylight (D) the morning snow.
33/63. The poet "urges to move him into the sun " because

(A) it is warm (B) it woke him once earlier

(C) it is day-time (D) it will ease his pain.
34/64. The sun "always"' woke him in

(A) England (B) India

(C) Italy (D) France.
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35/65. "Was it for this the day grew tall' — is an example of
(A)  metaphor 3 (B)  metonymy
(C)  chiasmus (D) alliteration.
36/66. "... what made fatuous sunbeams toil ..." is an example of
(A)  synecdoche (B)  periphrasis
(C)  personification (D) simile.
37/67. The general tone of the poem can be described as
(A) sad and tragic (B) full of mirth
(C) satirical ' (D) humorous.

Directions : Read the following passage and answer the questions ( 38/68 — 45/75 ) that
follow : '

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books.

The initial idea for both The Hardy Boys and the Nancy Drew series was
developed by Edward Stratemeyer. who owned a publishing company that specialized
in children's books. Stratemeyer noticed increasing popularity of mysteries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves., He first developed each book with
an outline describing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book. it
went to the print,

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential. He was a Canadian Journalist by the name of Leslie McFarlane, A few years
later Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves, Wirt
had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic, Many teachers and
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librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the bHooks in their children's collection. i
Ironically this decision actually triggered the sales of the books.

Regardless of the controversies about their literary merit, each series of books has

exerted an undeniable influence on American and even global culture.

38/68.

39/69.

40/70.

41/71.

42 /72.

43/73.

695990

A ghost writer is someone who

(A) writes about ghosts and strange events

(B) does not receive credit as an author

(C) invokes spirits and supernatural elements to write

(D) takes lot of money for writing.

What does the word 'surmised’ mean ?

(A) Guessed it ; (B) Questioned

(C) Knew (D) Surprised.

The Hardy Boys and Nancy Drew series were created on the idea that
(A) mystery books for adults are popular

(B) children enjoy reading about characters they can relate to
(C) girls and boys are not interested in the same thing

(D) the writer needed money.

According to the passage the Nancy Drew mystery series was introduced in
(A) 1927 (B) 1925

(C) 1929 (D) 1930.

Which would be the appropriate title of the passage ?

(A) Ghost Writing : A Wéy of Life

(B) The Dubious Yet Profitable Practice of Ghost Writing

(C) The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing.

Who was the real writer of the series according to the passage ?
(A) Carolene Keene (3) Franklin W. Dixon

(C) Leslie McFarlane (D) Hardy.

6001 [ P.T.O.
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45/75.

Direction :

46/76.

47/77.

48/78.

49/79.
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Some teachers and librarians objected to the ghost writing series because they

(A)  disapproved of mystery stories '

(B)  thought that the books were too expensive

(C)  believed that the books were not quality literature

(D) disliked the business practice behind the series.

Which of the following describes the author's attitude towards the series ?

(A) Balanced and respectful (B) Doubtful and critical

(C) Hostile but forgiving (D) Overwhelmingly appreciative.
Part - B

Answer the following questions by selecting one option :

Gender stereotypes can be discouraged by

(A)  helping the boys to accept failure

(B) encohraging girls to take up sports

(C)  asking girls to arrange for the snacks in a class picnic

{i.‘)} encouraging girls to take up challenging jobs in life.

Abstract intelligence tests

(A)  verbal skills

(B) manual dexterity

(C) numerical ability

(D)  manipulation of symbols,

Today emphasis should be given to

(A)  electronic gadgets used for teaching-learning process

(B) chalk-and-talk method of teaching-learning process

(C)  learning through foreign collaboration

(D)  value based teaching-learning process.

Effective learning takes place when the students are

(A)  quiet (B) obedient

(C) interactive (D) preparing for examinations.



50/80.

51/81.

52/82.

53/83.

54/84.

55/85.
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A teacher can best develop communicative skills with the students by

(A) encouraging to speak in that language continuously

(B) pgiving dictation

(C) correcting grammar and spellings

(D) giving students homeworks in that language.

While communicating ideas in written form grammar has

(A) a keyrole . (B)
(C) liberal role ' (D)

Key principle of language teaching is

no role

none of these.

(A) to motivate the students in the process of learning

(B) . to facilitate the learner-centered classroom activities

(C) to maintain discipline in the class

(D) to show the teacher's mastery over language.

In a language-teaching class the primary <kill(s) to be developed in children is/

are
(A) Listening (E)
(C) Listening and Speaking (D)

A multi-linguai classroom is
(A) students with different mother tongucs
(B) students coming from different regions

(C) students with different cultures

Speaking

Writing.

(D) students with different social backgrounds.

'Overlearning' is the term used to describe

(A) practice that continues after a perfect recall has been achieved

(B) the practice of learning over and beyond the requirement of a particular

class / age

(C) the practice of spending too much tirne on studies

(D) the practice of overburdening the students with tasks.

FBTO.
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56/86. Tasks to improve spelling should not include

(A)  reading (B) listening

(C)  writing (D) use of dictionary.
57/87. Giving dictation is not useful for

(A)  learning the correct form of the language
(B)  developing language skills
(C)  developing short term memory
(D) helping students to spell correctly.
58/88. How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the

course

{Bi By evaluating all the four skills at the end of the course

(C) By evaluating only reading and writing

(D) By evaluating only speaking and listénmg.
59/89. What is the main, challenge of teaching language in a diverse classroom ?

(A) Facing slow and weak learners

(B) Facing a mixed-ability group of learners

(C)  Facing infrastructural problems

(D)  Facing the good students in the class. .
60/90. While using problem solving method the teacher should

(A)  participate actively in the process

(B)  encourage divergent thinking

(C)  ask the students to consult their parents

(D) look at the students' activities from a distance.
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There are 60 questions in all in this Section.
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Section - III(a)
Mathematics &
@3 et G 60 B e Sz @ A @8

must answer all the questions.

91.

92.

93.

695990

gl siweea 5 Fe 29 73°, 97°,
146° @3¢ 138° | s (Ffba M

(A)
(B)
(©)
(D) 83°.

| 1 iy
104°
86°

SSedF ABCD € ABEF-@d (Haye
Sigo N @38 Ol Sl I
h8 p RE

(A)
(B)
(C)
(D)

h>p
h<p
h=p
RIS JT |

ove f5ta AB||CD ¥F1, £BGE-93 ¥

C - D
90° + x (y
A / o B
E
(A) 45°
(B) 120°
(C) 135°
(D) 270°.

cience

o baw FEEN Ol NP 2ed ©ed o A |

=03’

91.

92.

6001

The candidates who have selected this subject

Four angles of a pentagon are 73°,
97°. 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
" (D). 83°.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A)
(B)

h>p
h<p
(©)
(D)

h=p

none of these.

In the figure below, AB| | CD, then the
value of ZBGE is

A /G - B
E
(A) 45°
(B) 120°
(C) 138°
(D) 270°.

[ P.T.O.



94. ABA @PH @6FR IXE @@l fuger

& 91 I 7

(A) 95°, 45°, 50°
(B) 95°, 45°, 4Q°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°,

95. a3 MAMF MY 32 @19 I 5 My @
FAE R NS IW @ 371 4
(TP 16 N T, 71201 oy

(A)
(B)
(©
(D)

83
- 44
~83
12.

96. (OMIT AGYN TN x AZT T 5 A%
SR 8 5 TRH SN INCH SIS o1

(A)
(B)
(€)
(D)

(5—x):(5.+x]
(x-5):(x+5)

" (10+x):x

(x+5):(x-5).

97. (2x+1)? =4x2 1 4x + 1. @fp «=f®

(A)
(B)
(€

(D)

R NIEEC]
racs
TR

CPIHIDE w7 |

98. @U@ T WA 19 ¢ 20 20,

oA Whod 29 ze

(A) 10%

(B) 7-5%

(C) 5%

(D) 2'5%.
695990
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94.

95.

96.

97.

98.

With which of the following angles, a
triangle can be formed ?

{A) . 95°, 45°, 50°

(B) 95° 45°, 40°

(C) 65°, 85°, 50°

(D) 65°, 55°, 25°.

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original

number. The number is

(A) 83
(B) -44
{C) <83
(D) 12,

If your present age is x, then the
ratio of your ages 5 years before and
S years after the present is

(A) (5-x):(5+x)

(B) (x=-5):(x+5)

(C) (10+x): X

(D) (x+5).:(x—5).

(2x+1)2 =4x2 4 4x + 1. This is an

(A) equation

(B) identity

(C) inequation -
(D) none of these. .
If the ratio of sale price and purchase
price is 19 : 20, the percentage of
loss is

(A) 10%

(B) 7:5%

(C) 5%

(D) 2:5%.



99.

100.

101.

102.

103.

104.

a3fs RUE 20% @ el I
2% 90 | T F9 ?

(A) 60

B) 70

(@) 7S

(D) 80.

(p+q)=8 @R (p-q)=6]F pg-aF
A =7

(A) 7

(B) 14

() 21

(D) 28.

4,7, 12-93 59 FAFATS! 251

(A) 28
(B) 21

(C) 14
(D) 35.
50'\-‘-]_ﬂ x %
et
(A)
(B)
(C) 75

(D) 100.

3x2 ~2yz +5z° @8 IAIHFT b2l
24
(A)
(B)
(C) 6

(D) 5.

55 kg IS 25 kg W91 @ MBI O
QG Ol 8 WHH TS F© ?

(A): 11:5

(B) 5:6

(G} 618

(B) . 5 1L

x-€4 y % RE y-@as9 AN

25
50

<5
3

695990
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100.

101.

102.

103.

104.

(6001 |

(A)

If a number is increased by 20%, it
becomes 90. The number is

(A) 60
B) 70
C) 75
(D) 80.
If (p+q)=8 and (p-g)=6, then the
value of pg will be

(A) 7

B) 14

() 21

(D) 28.

The fourth proportionate of 4, 7 and
12 is
(A)
(B)
(C) 14

(D) 35. :

If x% of 50 = y % of x, the value of
y will be

(A) 25

(B) 50

{0 Y 4

(D) 100.

The number of variables

28
21

in the
expression 3x?% - 2yz + 522 is

4

(B) 3

(C) 6

(D) S.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

(A) 11:5
(B) 5:6
(C) 6:5
(D) 5:11.

[P.T.O.
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106.

107.

108.

109.
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a3l Y IJPTE A9 oA B-aq
TR fawe | A-aq wTeng 428 Graw
T, B-&3 o) [

(A) 214 Gl

(B) 556 bIl

(C) 107 Br=el

(D) 856 GI<F |

9T voSee 46 SPF @ s
90° @It Tfafse daE1 O begEe
<=1 ]9

(A) fevq

(B) s

(C) =%

(D) Gifsiferam |

@3 A TRGeH Al SR W
165° 201, IQGEbY AL 35

(A) 12

(B) 24

€ 6

(D) 8.

Teae  fager AABCcwn @
ZA = 70° X6 AN @ T4 35 2
(A) AB> BC

(B) AB< AC

(C) AC> BC

(D) ~ AC < BC.

Q3 FrEd smfear fager,
SPRCPICE A 25° JET, FENCPIEE A

(A) 75-5°
(B) 110°
(C) 130°
(D) 155¢.

105. The principal amount of A is twice of

106.

107.

Bin a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs. 214

(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular

polygon is 165° then the number of
sides of the polygon is

(A) 12
(B) 24
© 6
(D) 8.

108. The vertical angle ZA of an isosceles

109.

triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC

(B) . AB< AC

(C) AC> BC .
(D) AC < BC.

An acute angle of an obtuse angled
isosceles triangle is 25° So the value
of obtuse angle is

(A) 755°
(B) 110°
(C) 130°
(D) 155°,



110.

111,

112.

113.

o 114

ABC fagee ABa wuifeq D, &R

DE||BC. BC =7 cm % DE-&3

26
A

B
14 cm

7 cm
35 cm
14 cm.

(A)
(B)
(C)
(D)
(x + 3)(x — 3)-&@ x-€&9 HES P9 ?

A) 1

(B) 2

(C) 0

o). <1

x% -8x+15 a1fefoa Bermaaia o

(A)  (x-5)x+3)

(B) (x-8)x+7)

(C) (x-5)(x-3)

(D) (x-—8){x—-T7)-

23 b2, a*p®-a3 @de. 32q°
3@ b-94 YN T

(A) 32

(B 24

o) Sl

(D). 2.

'iﬁ Af*a @ a?’+b3; W

A, (a + b) TE NG, @

N 2 !

[a2 +b2)

(B) [a2 —ab+b2)
(©) (a® +2ab+b?)
(D) (a2 +ab +b?).

(A)

695990
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110.

111.

112¢

B

In AABC, D is the mid-point of AB,
DE||BC. If BC = 7 cm, then the value
of DE is

A

B
14 cm

7 cm
3:5cm
1'4 cm.

(A)
(B)
(&)
(D)
The coefficient of x in the expression
(x +3)(x—-3) 1s

(A) 1
(B) 2
(€ O
(D) -1.
The factors of x2 -8x +15 is
(A)  (x—5)(x+3)
- (B)  (x-8)(x+T7)
(€ (x-5)x-3)
(D) (x—8)(x-7).
If the L.C.M. of a2b®, a®b?, a*b® is
32a*, the value of b will be
(A) 32
B} 29
€ 6
(D) 2.

114.

6001 l

The product of two terms is ad +b°
and H.C.F. of the two terms is (a + b).

So L.C.M. will be
A) (a? +b?)

(B)
(€C)

(a? - ab + b?)
(a? +2ab + b?)

(D) (a? +ab +b?).

[PT.O.



115. 199-a7 9 %51

(A) 7880599 (A) 7880599
(B) 9703011 (B) 9703011
(C) 7680951 (C) 7680951
(D) 6879091, (D) 6879091.
oG0a T S A 116. The fraction of 0-63 is
63
TR o Ay .88
100 (A) 100
100
B el .
(B) 63 B) 100
- 63
€ = 7
11 (©) i
11
) =
117. A @ B-4% I8CH 1% 10 499, B €@ .94 9
TWER G 15'7@?1 @TL A € C- 99 TACH 117. The average age of A and B is
f d is 1
o 20 %4 A, B S C-99 I 10 years and of B and C is 5 years
and of A and C is 20 years. What is
F9 ?
the average age of A, Band C?
(A) 12-5 924 (A) 125 years
(B) 175999 (B) " 17°5yéars
(C) 153923 (C) 15 years
(D) 203541 (D) 20 years.
118. The square root of 1296 is
118. 1296-47 53+ &= X
(A) 24
A 24
(A) (B) 26
(B) 26 .
©) 36 (C) 36
(D) 44. (K 44, -
119. 68, 32, 2.7, x 93 82-93 % 5 I@E 119. The average of 6'8, 32, 27, x and
x99 WA 24 8'21s 5. So the value of x is
) 4 i
By 51 (B) 5-1
€) 41 (C) 41
(D) 39 (D) 39

695990
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115. The cube of 199 is



120, 3 T @i ofrna o9 R
(A) 30

(B) =l
(©) THEA (¥ (I aFb
(D) @AHE 57|
121, TEeRFER & g@emy b 2=
A) Rz
(B) conesfm
(C) WERH
(D) ConfaSfer |
122, SIS Gy WA (@RS w1 261
(A) fecEERh
(B) «@fFcIRh
(C) SSAPTRD
(D) CRATGMRG |

123. BET@e @36 (09 2ACNEE AN 291

(A)  CHITHEPIHEN
(B) STETIOEN
(C) =rIfEs

(C) B (SEPF
(D) fEI
125. S FEAN IACEHS AN 2¢7
(A)  AEISEA
(B) @IS
(C) #IF°H
(D) G |
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120.

The average of three consecutive

~ whole numbers is always

121.

122.

123.

124,

125.

6001

(A) even

(B) odd

(C) any of these

(D) none of these.

blood

Substance for

clotting is

(A) bilirubin

(B) prothrombin
(C) albumin

(D)
The cell responsible for immunity is

(A) lymphocyte

important

. globulin.

(B) erythrocyte
(C) thrombocyte
(D) hepatocyte.

The name of a female reproductive
hormone is

(A) testosterone
(B) progesterone
(C) gastrin

(D)

The ﬁulmonary venous blood enters
the .............. chamber of the heart.

adrenaline.

(A) right auricle
(B) left auricle

(C) sinus venosus
(D)

The name of the emergency hormone
is

ventricle.

(A) thyroxine
(B) estrogen
(C) glucagon

(D) adrenaline.

[P.T.O.



126. FafERoe R @Mt e o 7y 2

64

(A) SThe=
(B) PRI
() ©%
(D) &EFIRG|
127. (I N (Ao 7TeI@e 2w 26
A) E=fbawem
(B) QREAICEN
(C) CACATCETIN
(D) CERIEaICery |
128. FEfERe @ e wme aREiE
Y Y 7 :
(A) S araieiey Sfee
(B) sfetfer e :
(C) BTN
(D) SIPE |
129. (@ EEE ANt R LW MW Y
ol 24
(A) AP
(B) Tebd
(C) o
(D) T=TAIET
130. ¢ a0 Nfieed eTfam ¢t 31w ol 29
A) fFcEa
(B) e
- (©) e
(D) enfbreafeE |
131. WM oIFe b ¥ I =
(A) SO ST A
(B) "SIDE SF 1RG0
(C) "NIBIa WE NISHRG
(D) “NPDI W HETFEG |
132. A5 e ofve weifaard) 2
(A) 717 S
(B] QEINIEZS
(C) A M2
(D) We1
695990 6001

126. Which of the following is not a

127.

128.

129,

130.

131.

132,

component of phloem ?

(A)
(B)
(€

(D)
The

Sieve tube
Companion cell
Fibre

Sclereid.

site of protein synthesis in a

cell is

(A)
(B)
(©)

(D)
Which of the following organelle has
many ribosomes attached to it ?

(A) Rough endoplasmic reticulum
(B) Golgi body

(C) Lysosome

(D) Vacuole.

The type of animals
cutaneous respiration is

(A) reptiles

(B) amphibians

(C) birds

(D) mammals.

The phylum of animals
presence of mesoglea is

(A) porifera

(B) ctenophora

(C) cnidaria

(D) platyhelminthes.
Acharya Prafulla Chandra Roy is
known as

(A) 'Master of Sulphates'
(B) 'Master of Nitrates'

(C) 'Master of Nitrites'

(D) 'Master of Sulphides'.

Which one of the following is the non-

Dictyosome
Ribosome
Mesosome
Chromosome.

conductor of electricity ?

(A)
(B)
(C)
(D)

Gas carbon
Ebonite
Human body
Soil.



133.

134.

135.

136.

137.

"138.

695990

@e AfERa (@4 8 OfesRd I
weifgafes At #fFRIRI0e TeAF B9
(A) SRENER TR

(B) e bl

(C) RN F&ET AP

(D) eIZaR e ANAIEF |

aafs et @IEa SfesrTe 9 2

(A) 1-08 volt

(B) 1-5volt

(C) 1:05 volt

(D) 1-8 volt.

T Swey b e ©fS. TrECH (A

@ 3 7 d@ @RE W @ 2

(A) IENSAN bIeo Jfad PR

(B) JAFHSAN 519 BPT SIS FIAC

(C) ©=@l B QI =]

(D) Twel e S |
fefeReea Tw@ @W @@ 2190 G2
Y& 7

(A) IR

(B) GREATCHRGI

(C) QTR

(D) SiRfee |

fsfRosfm @Rl Fenln e
Y ?

A) Ffa

B) A

() faerewys T+

(D) G|

aEesfr @mbe wfefre e
S ?

(A) <8 WY

(B) Wi®d W2

(C) #FR R

(D) e Wz
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133.

134.

135.

136.

137.

138.

For a definite resistance and for the
definite time of flow of current, the
heat produced in a conductor is
proportional to

(A) the flow of current

(B) the cube root of the flow of
current

(C) the square root of the flow of
current

(D) the square of the flow of current.

The emfof a dry cell is

(A) 1:08 volt

(B) 1:5volt

(C) 1-:05 volt

(D) 1-8 volt.

Why does an ink-filled fountain pen
leak at a high altitude ?

(A) Atmospheric pressure increases
(B) Atmospheric pressure decreases
(C) Temperature decreases

(D) Height increases.

Which one of the following animal
body phyla has segmented body ?

(A) Mollusca
(B) Echinodermata
(C) Aschelminthes
(D) Annelida.

Which of the following is not a

mammalian character ?
(A)
(B)
(©)
(D)

Which one of the following does not
have accessory respiratory organ ?

Pinna
Mammary gland
Three chambered heart

Hairs.

(A) Anabus sp

(B) Clarnius sp

(C) Labeo sp

(D) Heteropneustes sp.

[ P.T.O.



139.

140.

141.

142.

143.

144.

fAufaRe o endig s gor Biferar 2

(A) TRE

(B) GFeol

(C) e

(D) =mfsEr |

foraas warea owy aidll eeifb oo
(A) L

(B) %

(C) SToTrY

(D) =M= |

i wmicls oo &1 (78 s 5o
(A) Toug pEe

(B) CbEzs *mie

(€) @l poe @ weiafd wslee s
(D) @30 p&® 8 WF 9 G Wi |

SUICIE R Ol e E2 B (i
ofeqIaee 7 2

(A) IINATG
(B) GIE4

(C) TG

(D) SHITEA |

ST #AfS oifde @ Somiet o za
(A) @B

(B) CFETe

(C) ~corfon

(D) Jafe
frsfeosfm com e Sfr v 2
(A) o

(B) HIZC1on3<1

(C) emrfEErT

(D) =1l |
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139.

140.

141.

142.

143.

144,

(©)

Which one of the following animals’
locomotory organ is cilia ?

(A) Hydra

(B) Earthworm
Paramoecium
(D)
The organ responsible for secretion of
bile is

(A)
(B)
(€)
(D)
When repulsion occurs between two

substances then those two
substances are

(A)
(B)
(©)

Amoeba.

liver
kidney
pancreas
stomach.

both magnets
both magnetic substances

one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is

magnetic substance.

The electrode which is connected to
the positive pole of the battery is
called

(A) cathode
(B) cation
(C)
(D)
Casparian strip is made up of
(A) Chitin

(B) Cellulose

(C) Pectin

(D) Suberin.

Which of the following is not a green
plant ?

(A) Lotus

(B) Spirogyra
(€)
(D)

anode

anion.

Agaricus
Fern.



145. Siele eEw @ S RS

wia o Wil 16 29
A) S
(B) SIBLGIHREAI
(€) owfer 3T
(D) ETREIEN |
146, @ sl qfe-<er A wfefze 2
(A) RS

(B) Gl
(C) el
(D) ARG

147. AETd SovHe 5 2

(A) ST, BB FREE @<t ABIRA

ARG
(B) I, e @ TN
(C) IR, AFTTIA 8 IRCIA
(D) e, G
i T |
148, A G RETE IS T
(A) OFE NIBCICSH
(B) ©Fe1 ZREIEH
(C) THE URIARE
(D) ot f&feram |
149, siama foow Faa T GEll
(A) AT
(B) 6
(C) el @R
» (D) Co. (T B |
150, BfHeT-f ware SwReel 2@

(A) I

o

(B) CaTHI
©€) e
(D) <9y
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145. In an eukaryotic cell, the organelle
responsible for aerobic respiration is

(A) Chloroplastid
(B) Mitochondria
(C) Golgi body
(D) Lysosome.

146. Which substance is
~ 'bucky-ball' ?

(A) Diamond
(B) Gold

(C) Fullerene
(D) Graphite.

147. What are the components of Gun
powder ?

known as

(A) Carbon, potassium nitrate and
potassium sulphate

(B) Carbon, sulphur and bismuth
(C) Carbon, sulphur and nitre

(D) Sulphur, sodium nitrate and
potassium sulphate.

148. The substance used in rocket fuel is
(A) liquid nitrogen
(B) liquid hydrogen
(C) carbon dioxide
(D) liquid helium.

149. The concept of stationary orbit in an
atom was proposed by

(A) Rutherford
(B) Dalton
(C) Neils Bohr
(D) J.J. Thomson.
150. An example of a solution made of
solid in solid is
(A) fog
(B) smoke
(C) bronze
(D) air.

6001
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Section - III (b)
SOCIAL STUDIES
a8 Rene (b 60 B o =g | mﬁmﬁaﬁﬁwﬁmw@wwm@wﬁ-ﬁm |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

91. PR oF TEmIee! R ? 91. Jaldapara is famous for
(A) 9G9F % 19F (A) one horned Rhinoceros
(B) =9 ] : (B) Tiger
(C) Pz : ' (C) Lion
(D) =fS | | ' (D) Elephant.
92. IMERTH IRT - 92. Cause of air pollution is
(A) ra (A) smoke
(B) B e (B) cleaning utensils
(C) =W 3= (C) bathing
(D) eI ST | - (D) use of fertilizer.
93. #ReTY BfEw sme: I 93. Mangrove forest is found in
(4) TRNE Abrs (A) Saline soil
(B). F¥fesrm (B) Black soil
(C) e Witre (C) Podzol
(Dj (PIEADR 7 | (D) None of these.
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94.

95.

96.

97.

- (D)

voo {5 Tb ool 2e1
(A)

(B) e

(€)

TG

RO
7S |
G 2 e 25

(A) @

(B) Sicuferal

(C) wfwel Srfw=et

(D) @i |

(A) S Sffaass

(B) fm-zifa Swx

(C) T oo

(D) R OR |

e AR SIRGE 2T ... R |
Rl

@fea

(A)

(B)

(C) T T
(D) HGIR FH |
08, e @4l (@ e frc iy ¢l zer

(A) FEIR (B) A5
(C) e (D) CPWOIR 7T |
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94.

95.

96.

B By

98.

6001

Landform which is 600 metres high,

is

(A) Plateau

(B) Plain

(C) Hill
(D) Mountain.
Earthquake prone region is

(A) Japan

(B) Australia

(C) South Africa

(D) Germany.

Effect of revolution of earth is
(A)
(B)
(C)

(D)

change of seasons

occurrence of flood

The first humans came from
(A) Africa
(B) Asia
(C) North America

(D) none of these.

occurrence of days and nights

occurrence of earthquake.

The Tropic of Cancer passes through

(A) Krishnanagar

(B) Bankura
(C) Birbhum

(D) none of these.

[ P.T.O.



99. fZNEy @ ferw ofewET o zo

(A) ©rE ofe

(B) i e

(C) wmearwfefa

(D) SRME /s |
100. T AP IFB] o7
(A) >»a% i (B) S»qo A
(C) s»ae A

101. ;'

YA BIONE TH 75T
(A) TRRGE
(B) «rfifiom

(C) ==raf¥oR
(D) AR |
102. i o 3R =

(A) CeIETeCH (B) gfare
(©) wifwem (D) <% &fY |
103. sfedia Ardon av / AR ze1

(A) e

(B) e

(C)

(D) I=°@ |

1695990
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99.

100.

101.

102.

103.

6001

The Himalayas belong to the category

of
(A) Fold Mountains

(B) Block Mountains

(C) Volcanic Mountains

(D) Residual Mountains.

Project Tiger was started in

(A) 1972 AD. (B) 1973 A.D.

(C) 1975A.D. (D) none of these.

Atmospheric pressure is measured

by

(A) Barometer
(B) Thermometer
(C) Hygrometer
(D) Anemometer.

Rainfall of equatorial region is
(A) relief

(B) frontal
(C) convectional
(D) drizzle.

Longest river in the world is
(A) Mississippi

(B) Nile
(C) Ganga

(D) Brahmaputra.



104. w2 2@
(A) e
(B) TG @I
(C) VAT (]
(D) G2 Cal |

105. WA @ T QIS4 21
(A) S TwA
(B) W
(€) el
(D) COFDBIR 7¥ |

106. Free India Centre S iz
(A) ffw
(B) #18E
(©) - Gifeers

(D) G |

107. Indian Independence League ¥

[ ]

FrRREw

(A) IR 93

(B) “TeraveE ¥
(C) BT G i

(D) COR T 7 |
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104.

105.

106.

Great circle means

(A) Equator

(B) Tropic of Cancer

(C) Tropic of Capricorn

(D) Pole.

Dadra and Nagar Haveli is a
(A) Union Territory

(B) State

(C) District

(D) none of these.

The Free India Centre was set up in
(A) Berlin

(B) London

(C) Tokyo

(D) Rome.

107. The Indian Independence Lcag\ic was

6001

set up by

iA) Rashbehari Basu

(B) Subhas Chandra Bose
(C) Captain Mohan Singh
(D) none of them.

[ P.T.O.



108. Direct Action-& 5l ¥

(A) R
(B) QTETS
©)
(D) CPMBIR w7 |
109. C.R. Formula-¥ #@” (W«
(A) SEFRET ATSHTAH I
(B) foez@ wm
(C) FIEe orga
(D) G @G 7 |

110. "SNE G 01 -97 AR 36w

(A)
(B)
(©)
(D)

BEFAG] ATSILSIIATBIRT
foeae wr

AT I
GF T 79 |

111. I_EF S EH 41

(A)
(B)
(C)
(D)

112. ¥067 2fe~1 o soprey SeifEe

TR
Tt
e
CPIHHIR 7Y |

TERE 7

(A)
(B)
(C)
(D)
695990
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108.

109.

110.

1115

112,

Direct Action was initiated in

(A) Ca.leutta
(B) Bombay
(C) Madras

(D) none of these.

C.R. Formula was forwarded by

(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

Amar Sonar Bangla was composed b
(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

Babur was born in

(A) Fergana
(B) Delhi
(C) Ajmer

(D) none of these.

Captain Hawkins visited the court of

(A) Jahangir
(B) Akbar
(C) Shahjahan

(D} None of them.



13, GIEI-Tl-SN SIArSd (PIYTH [0 FEd ?

A) IfETes

(B) &AM
(C) =oNTR

(D) R T |

|14, TRFERFEET wwwE ifF 5%

(A) sasa 9
(B) »axo dl
(C) sao0 e
(D) vase s |

115. @®w 5o S o 21

(A) Svdo (B) sSves i3

(C) swoe (D) (FWBIR ¥ |

116. GG aerer@ =g aren e

(A) =¥
(B) <IN
(C) Twi=

(D) ™A (T 7 |

117. oW aren e dnfEa A sifafbe 2

N

(A) SUT FEES

(B) fady rued Repwine

(C) “TEe

(D) €& (FT 7 |
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113.

114.

115.

116.

117.

Vasco-da-Gama came to India and

landed at

(A) Khozikode

(B) Gujarat

(C) Patna

(D) none of these.
Farrukhsiyar’s firman was issued in
(A) 1717 A.D.

(B) 1720 A.D.

(C) 1730 A.D. (D) 1740 A.D.

The Second Charter Act was passed
in .
(A) 1813 AD.
(B) 1814 A.D.
(C) 1815A.D.
(D) none of these.

The last king of the Maurya Dynastf
was
(A) Brihadratha
(B) Kalashoka '
(C) Udayin

(D) None of them.

Who was called Lichchhavi dauhitra ?

(A) Chandragupta I

(B) Chandragupta II Vikramaditya

(C) Samudragupta
(D) None of them.

[P.T.O.
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118. »reif A1 #fafbe cv amen fofir g 118. Sakari was the title earned by
(A) o2 reed : (A) Chandragupta I
(B) RS vwed it (B) ' Chandragupta Il Vikramaditya
(C) wes (C) Samudragupta

(D) GR @C 9 | (D) None of them.

119. T i i
119. WREE o=1f% 4571 It he Aihole Prasasti was composed by

A) RS (A) Ravikirti

(B) CMofem srews (B) Gautamiputra Satakarni
(C) Vasisthaputra Pulamayi

b mlm (D) None of them.

(D) «amI |

120. Pulakeshin II defeated

120. &SR *F R *RIfeTe @
(A) Chandragupta Maurya

(A) PUSY (N> , (B) Harshavardhan

(B) A (C) Nagabhatta II

(C) s Fereie (D) None of them.

(D) €@ & F | — 121. River of South India is
121, ..., W99 ORISR T | (&) Brabmaputra

) T @ R

(C) Jamuna

ey e AR AN (D) Krishna. 8
L2 0L 0 VIR e 122. Royal Bengal Tigers are found in

(A) TR (A) Sundarban

(B) ~*ifowwis *ifte | (B) Western Ghats

(©) Bwem s (C) Himalayas

(D) SI<ENEl ST | (D) Garumara forest.
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123.

124.

g Swsifea o1 Prer

(A) AR

(B) SACHFAY

(C) =

(D) A Are Codl A0 |

(TR T ... <O TGS G |
il

(A) CWEEIRGH

i

(B)

(&) (D) TG |

125. *f e 97 SIS NS IH.

126.

(A) CEBSIRE SET BT
(B) STWERH W

(€) fFvaaer e THE

(D) “ifFoaeE e WHE |
(A) SR Afbpyer AZeT

(B) o ALFIET W=

(C) se Ay ATZe

(D) C(IFOR 7T |

FRAfET AT 2T

(A)  FIof7 BT T

(B) 4 BICEF &

(C) o™ BITES &)

(D) Y BT & |
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123. Main work of a river in its

course is
(A) erosion
(B) deposition
(C) transportation
(D) formation of meander.
124, Polde.r is the reclaimed lands of
(A) Netherlands
(B) Germany
(C) Austria
(D) Scotland.
125
(A) Chota Nagpur plateau
(B) Sundarban region .
(C) Plains of West Bengal
(D)
126. The maritime boundary of India is
(A) 12 nautical miles
(B) 13 nautical miles
(C) 15 nautical miles
(D) ;'10ne of these.

127. Black soil is suitable for

(A) cotton cultivation
(B) rice cultivation
(C) wheat cultivation

(D) sugarcane cultivation.

6001

[ P.T.O.

upper

Rich deposits of minerals are found in

Mountain region of West Bengal.
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128. T ¥ @l | 128. India is a
(A)  SwwTAeT T8 (A) Developing country
(B) o g (B) Developed country
(€) BH P T T/ (C) Least Developed country

(D) CPHEIR «F |
129, TA=CH Q% @7 T
(A) SR (Ierdhey

(D) none of these.
129. Result of greenhouse effect is

(A) inversion of temperature

®B) ey Sz (B) global warming
(C) om 3o (C) industrial pollution
(D) <0 |

(D) flood.

i 130. Temperature is measured by

A oifisEm (A) thermometer

(B) mesfiGr (B) barometer

(C) e (C) anemometer

(D) e | _ _ (D) seismograph.
131. e =nfé zem

. 131. Frontier Gandhi was
(A) N (A) Khan Abdul Gaffar Khan

(B) A ST SHA N (B) Khan Abdul Wali Khan

C) I 4=
(©) (C) Shaista Khan

(D) TR S 7 |
(D) none of them.

132. V TooRe (7)1 AR
132. Gorge is formed in

(A) =R Twoifers

(A) upper course of a river
B) @ suefers
®) (B) middle course of a river
C) ArR Fraifers |
Wl (C) lower course of a river
(D) R¥A=E" Sworfere |

(D) mountain stage of a glacier.

695990 | 6001



133, "efaga-9a o 2=
(A) 3¢ Wb
(B) 3¢ ferrea
(C) R3¢ B

(D) Yo CITHE |

134. s{fedix SROE @ JRSYE ST

(A) e

(B) csao@

(C) feig

(D) CAFFAMN |
135. SCEAFER SHREe 2

(A) TIPS

(B) @@

(C) wie

(Dj o |
136. Baferam (4 e

(A)  Fpardt

(B) =R

©) i

(D) CFAGR W |
137. cwlb Saferam T WS 2W

(A) Svoo (B) svos Al
(C) svox e (D) >Svoo s
695990

77

6001

133. Date of spring equinox is

(A) 21st March
(B) 22nd December
(C) 21st June

(D) 23rd September.

. Heaviest rainfall in the world

received by

(A) | Bangladesh
(B) Cherrapunji
(C) Shillong

(D) Mousinram.

. Example of Igneous Rock is

(A) basalt (B) sandstone

(C) marble (D) slate.

136. William Carey was a

(A) Missionary
(B) Poet
(C) Linguist

(D) none of these.

in
(A) 1800 A.D.  (B) 1801A.D.

(C) 1802 A.D. (D) 1803 A.D.

is

. Fort William College was established

| P.T.O.
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138. 747 W e feafaer 138. The Young Bengal was led by
(A) & fofoam femfens | _ (A) Henry Vivian Derozio
(B) & FHWRA ST (B) - Rev. Krishnamohan Banerjea
(C) & fereorsy (C) James Prinsep
(D) EF P a7 | (D) none of them.
139. SwHb¥ IFIE B ; 139. Worﬁcsh Chandra Bonnerjee was a
(A) TR (A) Moderate
(B) BIN9T) (B) Extremist
(C) (A) @3t (B) Twad ' (C) Both (A) and (B)
(D) CHSDIZ 57 | (D) none of these.
140. THS (M WPRARE  WEET S 140. Gandhiji called for the establishment
fecaferrm ¢ of
(A) RIS (A) Ramrajya
(B) siorrem ; : (B) Ganarajyal
(C) =aren : (C) Swarajya
(D) (A) @3t (C) ¥&a | - (D) both (A) and (C).

141. RSwA-A16 1@ eedie! O apIBER 141. Hiuen-tsang visited India during the s

fSF s reign of -
(A) bUHE (N (A) Chandragupta Maurya

(B) =¥ (B) Harshavardhan

(C) s Frsres (C) Nagabhatta II |

(D) T T 7 | I (D) None of them.

695990 6001




142, ENH REW Q6=

(A) SR 5

144, ‘3@ <7 o

145. ‘Yre’ @ i wwsfe Gt 291

(C) 0= Aorel
(D) C(FFGIR 7F |
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142,

143.

144.

145.

146.

Suleiman was a/an

(A) Arab Traveller

(B) French Traveller
(C) Chinese Traveller
(D) None of these.
Muhammad Ghori defeated
(A) Prithviraj Chauhan
(B) Pulakeshin II

(C) Harshavardhan

(D) None o'f them.

Iqtd was a system of

(A) Land grants

(B) Religious endowment

(C) Loan

(D) None of these.
Khudkasht was a category of
(A) peasants

(B) kings

(C) nobles

(D) none of these.

The Harappan Civilization was

contemporary of

(A) Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civilization

(D) None of these.

[ P.T.O.



147. vieRE o
(A) =f3
(B) wrff
(C) (A) €32 (B) &%
(D) CFH0IR 7F |
148. fRfEEm faem
(A) 93Ny
(B) T 39y
(C) =& Ay
(D) FHBR 7F |
149, WEFRFEISEA SRS WEIT FE-
(A) PUSY GNERA =B
(B) 4FHEWA HTAAIEA
(C) ISTABIA MPIFBIET
(D) (SBIE JF |
150. faeTowE (Rew) 3 &9
(A) *fF @R ETFGISED VHS
(B) WG @48 wmem Rl
(C) Rmpra @z W@m N

(D) @M@ (T |
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147.

148.

149.

150.

6001

Yajnavalka was a

(A) Saint (Rishi)

(B) Philosopher

(C) Both (A) and (B)

(D) None of these.
Bimbisara belonged to the
(A) Gupta Dynasty

(B) Maurya Dynasty

(C) Haryanka Dynasty
(D) None of these.

Alexander invaded India during the

reign of

(A) Chandragupta Maurya
(B) Dhar:;ananda

(C) Agrammes

(D) None of these.

The Battle of Jhelum was fought
between

(A) Porus and Alexander [
(B) Ashoka and Alexander
(C) Bindusara and Alexander

(D) None of them.
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YAG] FITEE By
- SPACE FOR ROUGH WORK

695990 [P.T.O.



82

YAl FICeH G
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84
&= / INsTRUCTIONS

. i ( WGIHZRIA 4G @ AlFH $% / Read carefully and comply )

@®¢%{ / IMPORTANT

At curtret Wb w4 v ANWF Sty oG #16 (sFwida wopr) TAfsfeEBace Moy e |

At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's

F;;rtionl to the Invigilator. y s
w02 8 o aiey — e, SR, TR, @erd. efem, heedl. corre @ws B4 anere e 30 B e wrm s@wdice wre

AT WA oW S feesna 3o f e was @y aef o Sty o weei30 B wem. oot 60 B aeis Sew oo o |

In Section-II, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya. Santhali, Telegu and Urdu. Each language is
having 30 guestions. The candidate has te answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application form,

feort b faerer FRee — ot 1ija) - e @ Rem @z o1 1) - e | 2o [eie 60 B o ary | SR wiew
8 GATE (B 9l [FUTeE b3 BAEA |

“Section-lIl is divided into two sections — Section Ill{a) ~ Mathematics & Science and Section 11l{b) - Social Studies, Each section

A4 D0 2 OMR SGq9rad HEH Aol 2siesl e
The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

is_having 60 questions, The candidate has to choose any gne of the sections a?_ﬁpcr his/her Application Form.
T [T |

10.

11.

FoCfF1 TEATPI AT 69t OMR TEINUT DI | (A0 8, 136 14 62 WA SN 1, 3 998 49 976 GUaTet ofdf e | fo Aot 273

wm}zﬂmmsa\ﬁﬁwmﬁﬁvmmﬁwmﬁwm OMR Saaei@s wifis e 7wy @hhe Wiy wivee fFoee B9 a6

Read all the instructions carefully and fill the details in SI. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and S1. Nos. 1, 3 & 4

in the Question Booklet. If you fail to fill the details and Si%'l as instructed correctly, you will be personally responsible for the

consequences arising during scanning of your OMR Answer Sheet,

erseoiferer e 21 oMR Feweig A e

OMR Answer Sheet I?Io should be written in the space provided in the Question Booklet.

es{fePr (G 84 7Bl @t 150 o @ el PR R siaxrg ofeE i dl Wt W oot W ofmd

oaTs opsifgery 150 G orm e b 3 c4te 80 =R 1 il e |

The Question Booklet comprises ages having 150 questions. After being instructed to open the Booklet then only the candidate will

open t.h;%ean‘on Booklet at the in icawgﬁlacr. Chccﬂc whether the Booklet contains 150 guestions starting from Page No 3 to 80

Haofe aefaedlin) ool ot a3l TewE 0% I 9H 11 & Teram o (v R w4l 2ea Al

All questions are of MCQ (Multiple Choice Question| type. There is only one correct answer to each question carrying one

mark. There will be no negative marking for wrong answers.

CHIA 2008 (BT S5 ©F A1, “ArEId) RN 2@ A1 3T BATTTAA (PIA 04 F91 204 A1 o @qe Rwien (1i(a)

R [11(b) T 8 Eﬁﬂ%ﬁ HIHICH 219 102 | CPIA 2109 SUIMS EAHEGH) A1 B UAIMIEE bl 401 471 %A |

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in

question /s during the examination. Section-| and Section [ll{a) and IlI(b] are printed in Bengali and English versions. In case of

any factual discrepancy the English Version will prevail. ;

P el P $906 0 TR (710 2ivg € PS8 2 | Rifbie enseffasl (e e Al cam afefae @ el 2 Al

Rough work, if any, may be tone 1n the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off

from the Question Booklet. No additional paper shall be provided.

#o (O, FIPFEHA, FIRS %0, (WIRIZ (i, CoRTT, efeitrm S W S P BT Y AREIER e (8 | Qs

@b a1z S ANWIDE SIS T A S0 8 |

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument ¢tc. is not

allowed. Their use will result in disqualiﬁc&tion of the candidate,

o T4 A% 9T $( OMR $697@ (a3l X[ |

OMR Answer Sheet will be provided separately along with the Question Booklet.

A1) eeffeF 93t OMR Bese@ (i (o wmeifes gz OMR Seasicaq g A R4qaaf ofas e ersifea el et o Mw

w1 e | et et e s fics emafvarl e emeifeer cumm o s @midl SnE WBTE S0 (R (4 2ot CoM o )

01 GTR/ 27 Q¥ 3910 ey ReAT | W ersifieny (i @l Uite. e eewie (i SISO ST SRaE ST (i |

After Question Booklet and OMR Answer Sheet are issued to the candidate, t he candidate must fill in all the entries in the Question Booklel and OMR

Answer Sheet. The Question Booklet is sealed by a reverse jacket. The candidate has 1o lear open the jacket at the indicated place in order 10 open the

Question Booklet. After opening the Question Bookle! the candidale should ensure that any page/question is not m1ss:ni / not printed / torn /

repeated. In case you find any defect anywhere in the Question Booklel, immediately inform the Invigilator and get it replaced by him E

YAEE) deied (A1 i, (o COTC, ormoffga Pfaret «e, cafd, s, st or, faln mt, weihe feww, oFhw ofiw @ae S o

%9 OMR Taaercad fAffR 2w e 2t | .

Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-I, Language-I1, selected

Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet, :
aes 2107 4 f oreai Bag A, B, Cat D owaelt ity e oo ame) el ony 43 e o a3 o 31 it % 5 2@ oo s

wumm@mﬁ%oun@mmaﬁm{:ﬁfmmm%ﬂmﬁ%wmm (TS T 99 A (1 4RI T |

With each guestion you will find 4 possible answers marked by the letters A, B, C & D. Read each guestion carefully and find

out which answer, according to you is correct. Indicate your answer by darken&lﬁ the afpropr‘iate circle completely in the OMR

Answer Sheet corresponding to the question. For marking answers use black point pen only.

#o orafe : ¥ | CORRECT | @71 i%if : §¥ / WRONG G¥ | WRONG $ | WRONG T | WRONG
Correct method : @ ® © © | Wrong method : M@@@ @’@@@ ©@®O0 0O { Yol N©)

A orHe a¥ ™ 9 Cre¥T A CFH S0 =91 6410 Al |

Once a questign ig answered, no correction is permitted.
omn%aﬁ'a‘;lﬁ;a% AHITOI ale] S AT B stfarefers | @qm%t OMR Teasita e el wgre 41 saer sf3oe
KGR IGHEEE RIS R e Rle B TRGER - L i SR R e E et 89d A1 |

OMR Answer Sheet is designed for computer evaluation. [T you do not follow the nstructions given above and shown in the OMR Answer
Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only,
ufem w1 A1 qren o (o o@APdE a1 e g AN (18 | PE OTY geA I o ST Ao OMR Sedefa STSTEEbACS i
T+ @42 EAfefeehmEe cuee g umelh snta g e oy @A | '

No candlidate is allowed to leave the Examination Hall before the final bell, Afier completion of the examination the candidate should hand
?ver Ié\‘(’ ?“.R.f‘i‘s""’“ Sheet along with the Question Booklet to the Invigilator and he/she will take back his/her portion of Admit Card
rom the Invigilator, i
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